Chapter 6 STATA Output
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4d. Note that you must recode missing values to “.” From “999” in SPSS or you will receive an error message for the variable not being binomial. 
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7. There are two ways to obtain standardized variables in STATA. First, and the easiest, is to use the “egen” command below. 
[image: ]The second is to find the mean and standard deviation of the variable of interest, and for each observation subtract the mean from that value and divide by the standard deviation of that variable. 
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   RobberyRt    57.73535

                        

    variable          sd

. tabstat RobberyRt , stat(sd)


image9.emf
. egen zMurderRt = std(MurderRt)


image10.emf
. gen z2MurderRt = (MurderRt-4.514)/2.410

    MurderRt           50       4.514    2.410691         .9       12.3

                                                                       

    Variable          Obs        Mean    Std. Dev.       Min        Max

. sum MurderRt


image11.emf
                        

    MurderRt    .3409232

                        

    variable    se(mean)

. tabstat MurderRt, stat(semean)


image12.emf
                        

  BurglaryRt    36.11832

                        

    variable    se(mean)

. tabstat BurglaryRt, stat(semean)
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          Total       23,426      100.00

                                                    

     Don't know          126        0.54      100.00

     well known        9,227       39.39       99.46

casual acquiant        4,576       19.53       60.07

 slightly known        2,950       12.59       40.54

       stranger        6,547       27.95       27.95

                                                    

     the victim        Freq.     Percent        Cum.

relationship to  

    assailant's  

 indicating the  

       Variable  

. tabulate relationship


image2.emf
                     100.00     100.00     100.00     100.00     100.00      100.00 

          Total       6,547      2,950      4,576      9,227        126      23,426 

                                                                                   

                      29.52      40.34      42.99      65.79      44.44       47.88 

         Female       1,933      1,190      1,967      6,070         56      11,216 

                                                                                   

                      70.48      59.66      57.01      34.21      55.56       52.12 

           Male       4,614      1,760      2,609      3,157         70      12,210 

                                                                                   

SEX (ALLOCATED)    stranger  slightly   casual ac  well know  Don't kno       Total

                                        the victim

                   Variable indicating the assailant's relationship to

                     

  column percentage  

      frequency      

                     

  Key                

                     

. tabulate V3018 relationship, col


image3.emf
  Pr(k <= 4798 or k >= 19171) = 0.000000  (two-sided test)

  Pr(k <= 19171)              = 1.000000  (one-sided test)

  Pr(k >= 19171)              = 0.000000  (one-sided test)

     maleoff      23969      19171      11984.5       0.50000      0.79982

                                                                          

    Variable          N   Observed k   Expected k   Assumed p   Observed p

. bitest maleoff==.5


image4.emf
  Pr(k <= 6226 or k >= 15299) = 0.000000  (two-sided test)

  Pr(k <= 6226)               = 0.000000  (one-sided test)

  Pr(k >= 6226)               = 1.000000  (one-sided test)

victimrepo~d      23933       6226     10698.05       0.44700      0.26014

                                                                          

    Variable          N   Observed k   Expected k   Assumed p   Observed p

. bitest victimreported==.447

(36 real changes made, 36 to missing)

. replace victimreported =. if victimreported ==999
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    MurderRt    2.410691

                        

    variable          sd

. tabstat MurderRt, stat(sd)


